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Hatarértékek:
Pior = 50 mW Ucgr =15V
UCB°=15V Ic=1o mA
Uggo =12V & =75°C
Uceo =5V Rihja = 0,6 °C/mW

Dyeg = —55...475°C

Jellemzo adatok: = 25°C

Baziskapcsolasban

ICBO = 0.5 - 2 [..LA (UCB =2 v)

Icgo=10pA (Ucg=15V)

Itgo =04 <2pA (Ugg=2V)

I;go=40pA (Ugg =12V)
fi=63...12)MHz (Ucg =6V, Ig=1mA)
f‘r = 6 MHz

Emitterkapcsolasban

Icgo =12<40pA (Ucg=2V)
Ugg = 170 (145...195) mV  (Ucg =6 V,

IE =1 mA)

hyte = 50 (25...125) (Ucg =6V, Iz =1mA,

f =1 kHz)
Emitterkapcsoldsban
UCE= 6V IE =1 mA, ﬂa= 25°C
Cblc = 1000 pF Ebe = 0,5 y's
Coe=7..14pF g, =39mS
8brc = 760 S gce = 15...40 uS

Fpps = 75...200Q
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